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Attempt any four questions. All questions carry equal marks
ot off =TT ST <hT S <Rl Tt ST e e ©

1. (a) If the rate of growth of output in an economy is 7% and the rate of growth of capital
and labour are 3% and 4% respectively for an economy with a production function Y =
AK%°L%4 calculate the rate of growth of total factor productivity.

(b) If the per capita production function is y= k%* , the savings rate is 0.5 and rate of
depreciation is 0.1, what are the values of the capital and output per capita at steady state?
If the economy intends to maximise its consumption per capita at steady state what
should the level of savings be? With the help of a transition diagram trace the trajectory
of the economy from the current state to the one where it maximises its consumption per

capita at steady state.
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2. (a)What is the rationale behind the argument that the reduction in the level of taxation in
the current period need not result in an increase in the level of consumption? Attempt a

critical appreciation of this argument.



(b) The empirical evidence does not support the argument relating to convergence of

incomes per capita across economies. How do you explain the same?
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. (a) Prove that in the Romer Model the equilibrium price of a patent, P, satisfies the
relationrP, = m + P

where

m is the profit for a firm in the intermediate goods sector = a(1 — a)x

Y is the total output,

n is the rate of growth of number of workers,
r is the rental price of raw capital,

A is the stock of ideas, and

a is elasticity of output with respect to capital.

Hence, prove that along the balanced growth path P, = -~

(b) How effectively does Harrod put forward the argument that a deviation from the

warranted rate of growth results in instability?
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. (a) Discuss how, according to Fisher’s inter-temporal consumption model, the shape of

the consumption path over time is dependent upon the relation between market rate of

return and individual’s discount rate.

(b) Explain how Robert Hall reformulated the consumption theory by incorporating the

assumption of rational expectations.
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. (a) Write a short note on regressive expectations model and the critical rate of interest
(b) In his contribution on liquidity preference, Tobin distinguishes three kinds of
preferences that an individual might bear towards risk. What are they? Explain their

equilibrium portfolios with the help of diagrams.

(=) it IEfiET o Hieer ST ST T Heca Ul o W U HiH o fafay

(@) AT AT 9T ST AR H, Al A TR T SERIATstt shi STeRT AT & Wi STk SITRIH ohl Te L dehal
RN T HITE? AT BT TG STk e o SN H Ty (10+8.75)

. (a) Charging price above the marginal cost is necessary condition to promote innovations
in the economy. Examine the statement in the light of the studies of Romer and Jones
with algebra.

(b) Write a short note on sticky prices and menu costs under monopolistically

competitive setting under the New Keynesian framework.
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